MHOXeHHSA
pauioHanbHUX




3A0AHA

A4 1. Maemo 4 604kn 3 Megom Mo 8 Kr.
CKiNbKM BCbOro Kr meay B 60o4kax?

8 -4 = 32 (kr)
2. Butpatunun 4 604kmn 3 Megom.
CKINbKM BCbOro Kr meay B 6o4kax?

(-8) - 4 = - 32 (Kr)




1. [loganTe y Burnag|
noByTKy cymy: (YCHO)

*(-9)-4;
* (-4) - 3;

 B) cimHaguaTn ooaaHKiB, . (-a) - 17.
KOXXHUWN 3 AKUX OOPIBHIOE

(-a).




OoumcniThb:

*A)-2,5 - 4;
*B) 1- (-6);

e B)-3,5 -2;
[)-3-4.




WD 1llo6 nomMHOoXXUMuU d8a
) qyucsia 3 pI3HUMU 3HakaMu,

mpeba NoMHOXXUMu ix
MoOoyi i neped
ompumMaHum dobymkKom
rnocmasumu 3HakK «-» .




A) -2,5 - (-4);
b) -1- (-6);

B)-3,5 - (-2);
r)-3-(-4).




LlJ]o6 noMHOXUumMmu
dea yucna 3
OoOHaKoeumMu

3Hakamu, mpeba

MOMHOXXUMU IX
MOOYJ1i (Ompumaemo

yucrio dooameHe)




*A) -5 (-4);
b) -3,1- (-5);

*B)-2,5- 2
°[)-1-8;
A) -7 - (-1).
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100 - (-1);
e-100 - (-1);

e-15- 0;




*A) x ! (-3) = -8;

) x:4=-12;




1.4kun 3HaK mae
BOOYTOK?
-5+ 3,9; -4 - (-5,2);

6 -(-3,5); -6,4 -(-7,5);




2. ObuucniThb:
7+ (3); 7+ (3);
6-(-3); -3-4;

-2 - (-5,5); 100 - 0:
1 - (-13,5); 3,2 - (-1).




